Mol 22010, W 2017, E2r2ad 24, : @

7
O y= )+ ¢k 3(»\ 4 (2 )-qm+q,,( }g Z/ﬁ—'_‘
/ 1 :
)— H—iq :"?:%. 2
Thue |
@D F@)=3 end 1(2)= 4
® 3x +zy9’]_—~0 wl }f
@ 200 . _ 200 (5280) 22 /pes —?200m°/h
T 3400
yooo £

= 243.2/4,/44,

';/’%m= co? (&8) ; i o

\\\\ J}‘ sc (o c/é) - = 2 ﬂ.' A
ZE = Y4600 3¢ )32,2615,3 , €3¢ (7)-572_
— B . - ) B
J6 = 2733 & ~. 6 3Z Nopbory/ase ,’f;(-»oaé\( 0)0&”%%
e .5'2 - ?000 ~ T q
IV t-zn/ f /%

s 4B=_1 dx ftfsec - J000NZ_ 2437F
006*+X* SEE e i ~ )

@ @ ! dﬁ NGooomips A’ (N*S)A/dao

240 /\[—'(273%)~@@

5 A(S)‘ 2 dA=2sds mz(s)(.on‘fi—/;;mml . .ég_%/,o%;o.ﬁ%
T/u,m%m

© ’f (x)= 6 X" 24x3 = 6xX3 (x%-4) =0 @l K =0, RA=Z,X="L.
= K2 2) e
=f"(x)~39x"—7:zx ¢ x*(5 .
Ml = ZZ‘;: WWW\
Ww%h/ a
£/-2)>0, A& F////———

e i)




M_ZJQL@M =8 FMWW/W@)
B @ver=s'@)r=s¢- 2’/5‘\
<

b (e)= V(&)= 3672 &PM)—,;%

A
@ sA)=1-6 " v@il)=¢&-2¢4 a ()= 3¢”72:i_428

© TMMM@*WW V(& )=0,
Peomalyy ot |22 z=0,2ml 52 )

2R
‘ Z'! Z ] - Z. ZeZK :_2___

x-S 6 O02(3X) X903 450(3A) 3

”‘/‘m m U = B (x)
f J)( di = teo (£) Ax

L) gy = A :W(awc:m«,(w(x))fcl

e Ttax
Q8o ﬁ/mo‘ e X) y= W(m(x)\/ = astZan (1) ~arthe ()
THoin® ()

& :@
% }
(Wdit [wax= (=% L 3)[Bewd]
o oy ~ | ~




